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1. ‘Create’ is related to ‘Destroy’, in

the same way as ‘Purchase’ is
relatedto ......... g

(A) Goods  (B) Buy
(C} Market (D) Sell
(E) Money

. The positions of first and the

fourth letters of the word CLAIMS
are interchanged, simiiarly, the
positions of second and fifth
letters and third and sixth letters
are interchanged, In the new
arrangement thus formed, how
many letters are there between
the letter which is second from
the right and the letter which is
second from the left, in the
English alphabeticat order ?

(A) None (B) One
(C) Two (D) Three
(E) More than three

. How many meaningful English

words can be formed with the
letters AHS using all the letters
but each letter only once in each
word ?

(A) None (B) One

(C) Two (D) Three

(E} More than three

. In a certain code ‘in for a nice

surprise’ is written as ‘a in for
nice surprise’ and ‘obtained a
new useful report’ is written as ‘a

obtained useful new report’. How -

will ‘entry denied in the university
be written in the same code ?

(A) Universityin entry denied the
{B) Entryinuniversity the denied
(C) Entryinthe university denied
(D) Entryin denied university the
(E) Entry in universitydenied the

. Which of the following will come

in the place of question mark (?)
according to the English alpha-
betical series ?

AD CF EH ? IL

(A) Gl B) GJ
C) M (D) GK
(E) K

6.

Four of the following five are alike
in a certain way and so form a
group. Whichis the one that does

not belong to that group ?
(A) Drop (B) Slip
(C) Bounce (D) Topple
(E) Fall

Directions—(Q. 7-8) Study the

following information carefully and
answer the given questions—

Among M, R, L, N and J each

scoring different marks in an exami-
nation, R scored more than M. N
scored less than L but more than J. J
scored more than R.

7.

10.

Who amongst them scored the
least marks ?

(A) R B} M

€ J O)N

(E) L

Whose score was the third
highest ?

(A) R B M

< J (D) N

(E) L

If each vowel of the word
PERTAIN is changed to the next
letter in the English alphabetical
series and each consonant is
changed to the previous letter in
the English alphabetical series
and then the alphabets thus
formed are arranged in alpha-
betical order from left to right,
which of the following will be third
from the left ?

A 0 B Q
©) M (D) B
E)

How many such pairs of letters
are there in the word THINGS,
each of which has as many letters
between them in the word (in both
forward and backward directions)
as they have between them in
the English alphabetical order ?

(A) One (B) Two
(C) Three (D) Four
(E) Five

Directions—(Q. 11-15) Ineach

question below are two statements
followed by two conclusions num-
bered | and II. You have to take the
two given statements to be true even
if they seem to be at variance from
commonly known facts and then
decide which of the given conclusions
logically follows from the given state-
ments disregarding commonly known
facts. Give answer—

11.

13.

(A) Honly conclusion | follows.
(B) If only conclusion Il follows.

(C) I either conclusion | or con-
clusion Il follows

(D) If neither conclusion | nor
conclusion Il follows.

(E) If both conclusion | and con-
clusion Il follow.

Statements :

All rods are sticks.

No stick is a pole.

Conclusions ;

. All poles being rods is a
possibility.

Il.  Some sticks are not rods.

. Statements :

Some letters are words.

All words are sentences.

Conclusions :

I.  All sentences are lgtters.

Il All sentences being words is
a possibility.

Statements :

No gas is liquid.

Some liquids are solids,

Conclusions :

. Some solids being gases is
a possibility.

Il. Atleast some gases are
solids,

. Statements :

All houses are apariments.
All apartments are flats.
Conclusions :

. Some flats are houses.
Il. Al flats are houses.
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15. Statements :
Some engineers are doctors.
Some doctors are officers.
Conclusions :
I.  No engineer is an officer.
1. Al officers being engineers is
a possibility.
Directions—(Q. 16-20) Follow-
ing questions are based on five words
given below—
BRU LEG INK CAT OWN
(The new words formed after per-
forming the mentioned operations
may or may not necessarily be
meaningful English words)

16. If the third alphabet in each of
the words is changed to the next
alphabet in the English alphabeti-
cal order, how many words hav-
ing two vowels (same or different
vowels) will be formed ?

(A) None (B) One
(C) Two (D) Three
(E) Four

17. If the positions of the first and the
second alphabets of each of the
words are interchanged, which of
the following will form a meaning-
ful English word ?

(A) Both CAT and OWN
(B) Both BRU and INK
(C) Only TAC

(D) Only INK

(E) Only LEG

18. If the given words are arranged in
the order as they would appear in
a dictionary from left to right,
which of the following will be
exactly in the middle of the five

words ?
(A) OWN (B) LEG
(C) BRU (D) CAT
(E) INK

19. If in each of the given words,
each of the consonants is chan-
ged to previous letter and each
vowel is changed to next letter in
the English alphabetical series,
in how many words thus formed
will the same alphabet appear
twice ?

(A) None (B) One
(C) Two (D) Three
(E) More than three
20. How many letters are there in the

English alphabetical series bet-
ween the second letter of the

word which is second from the
right and the second letter of the
word which is second from the
left of the given words ?

(A) One (B) Two
(C) Three (D) Four
(E) Five

Directions—(Q. 21-25) Study
the following information carefully and
answer the given questions—

A, B, C,D, E, Fand G are sitting
in a straight line (not necessarily in
the same order) facing North.
® E sits third to right of A. E sits

second to left of F.
® Only one person sits between G

and B. Neither G nor B is an

immediate neighbour of F.
® Cis not an immediate neighbour

of either Bor F.

21. Who sits at the extreme right end

of the line ?

(A) G (B) F
) B (D) C
(E) E

22. How many persons sit between
AandC?

(A) None (B) One
(C) Two (D) Three
(E) Four

23. Fourof the following five are alike
in a certain way based on their
seating positions in the above
arrangement and so form a
group. Whichis the one that does
not belong to that group ?

(A) GC (B) DF
(C) BA (D) DE
(E) AG

24. What is the position of D with
respectto C ?
(A) Third to the left
(B) Second to the right
(C) Immediate right
(D) Second to the left
(E) Immediate left

25. If all the persons are made to sit
in alphabetical order from left to
right, the positions of how many
will remain unchanged as com-
pared to the original seating posi-
tions ?

(A) Nene  (B) One
(C) Two (D) Three
(E) Four

Directions—(Q. 26-30) Study
the following arrangement carefully
and answer the questions given
below—

619259242625857452
8351231414683739

26. If all the even digits are deleted
from the above arrangement,
which of the following will be
seventh from the left end of the
arrangement ?

(A) 9 ®B) 5
©) 1 D) 3
€ 7

27. How many such 2s are there in
the above arrangement each of
which is immediately preceded
as well as immediately followed

by an odd digit ?
(A) None (B) One
(C) Two (D) Three

(E) More than three

28. How many such 1s are there in
the above arrangement, each of
which is immediately followed by

a perfect square ?
(A) None (B) One
(C) Two (D) Three

(E) More than three

29. How many 5s are there in the
above arrangement, each of
which is immediately preceded by
a digit which has a numerical
value of more than five ?

(A) None (B) One
(C) Two (D) Three
(E) More than three

30. Which of the following is eight to
the right of the nineteenth digit
from the right end of the above
arrangement ?

(A) 2 (B) 5
€ 3 Do) 7
(E) None of these

Directions—(Q. 31-35) Study
the following information carefully and
answer the given questions—

P,Q,R ST V,Wand Y are
sitting around a circular table facing
the centre.
® Psitssecondtoleftof T
@ W sits third to right of Y. Y is not

an immediate neighbour of T.
® Q and R are immediate neigh-

bours of each other but neither Q

nor R is an immediate neighbour

of Y.

@ Visanimmediate neighbour of R.
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31. Who sits exactly between P and
Y?
(A) W | T
€y Vv D) Q
(E) None of these

32. How many persons sit between T
and P when counted in clockwise

direction from T ?

(A) None  (B) One
(C) Two (D) Three
(E) Four

33. Four of the following five are alike
in a certain way based on their
seating positions in the above
arrangement and so form a group.
Which is the one that does not

belong to that group ?
(A) WP (B) VR
(C) QT (D) VY
(E) PS

34. What is the position of Y with
respectto Q ?
(A) Fourth to the left
(B) Immediate to the right
(C) Third to the left
(D) Second to the left
(E) Third to the right
35. What will come in the place of the

question mark (?) based upon the
given seating arrangement ?

RV SP QR PW ?

(A) YV (B) VY
(C) PW (D) WT
E) YS

Directions—(Q. 36—40) In each
question below is given a group of
number/symbol followed by five com-
binations of letter codes lettered
(A), (B), (C), (D) and (E). You have to
find out which of the combinations
correctly represents the group of
number / symbol based on the follow-
ing coding system and the conditions
and mark the letter of that combi-
nation as your answer.

Number/Symbol :
%6p94@73#5%8%$20
Letter Code :
EQHWRPMBFIUTKAC
Conditions :

(i) If an odd number is immediately
followed by a symbol, the codes
for the first and the last elements
are to be interchanged.

(ii) I first element is an even number
and the last a perfect square then
the perfect square is to be coded
as the code for that even number.

(iii) If both the first and the last
elements are symbols, the fifth
element is to be coded as ‘=",

36. 2%8#39
(A) WETFBW (B) AEFTBA
(C) AETFBW (D) AETFBA
(E) AEFBTA

37. 5$8%26
(A) QKTUAI (B) IKTUAQ
(C) QKUTAI (D) IKTU=Q
(E) QTUAKI

38.

@94%20
(A) PWREAC (B) PWRE=C
(C) PRWE=C (D) CWREAP
(E) CWRE=P

39. $9p735

40.

(A) KWHMBI (B) IWMHBK
(C) IWHMBK (D) IWHM=K
(E) IWHMBI

8@6#29

(A) TPQFAW (B) TPQFAT

(C) TQFPAT (D) WPQFAW
(E) WPQFAT

Directions—(Q. 41-50) In each of the questions given below which one
of the five answer figures on the right should come after the problem figures
on the left, if the sequence were continued ?

Problem Figures

Answer Figures

T sla T[= alz =g z
41, p o c s T
c _o]s c|t sla Tl= a

O 0Oz fx O|T 0O

42, ATC=[=0%O[*k=0S|SACO|CSAT
OKOS|ISTCA|IOCAT|T=0%|00k=

T*00|ACSO|T*0O|[THxoA|TOKC
=SAC|T*=0{CcSA=[=50c]=5A0

B © O ©

43. QuaAlic|cliauA|liCoAU|UAINICO|AUKOC

COUAK|* OCUA|[CUAOK|O* AUC|COAUR

B © O @©

cCToO o0 A * S A% A S * A O
“itl-=| vl 2|« 2N R P l
T=C¢ 0C o AOK * A O * A S
A ® © O @®
a go oo oo ocx O0% Do* Dox aocw
45 n} o o aa oa DO! go= Ooo% A= OA=
T TR e | [es° [ER|EE fEE |2
C C C C * CA C * C A (8.4 C *
A B © O E
p__afo _pfo_<c[p__oJc__z oco Bﬂ coc
T T T S
46. =i | B | G | BRI | | B | B | BB | BB | BE
0 C|C o(D Z|Z (4[] T T Z|C Z|T Z|T OiT P4
A B © O (€
AN S>SA><| A< ]|IvY >Sv| vl <> <v] vc
47. ’ el o | e | o ,e ol !l o | | e
A B © O (@©

<@ | TTULTLLITLATERLTLL LT

A B © O ®©
Lol T A [e] * C C z L] *

4. |t zjz ofo z|[z alc z| |z alz x[x c|la |z ¢
S ) O C A * [ [ z [}

A B € O ©

50. />|A<l

® © O @®
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Answers: Reasoning

1 | (D) 26 | (E)
2 | (A) 27 | ()
3 | (0) 28 | (D)
a | () 29 | (B)
5 | (B) 30 | (C)
6 | (C) 31 | (E)
7 | (B) 32 | (B)
8 | (0 33 | (D)
9 | (B) 34 | (E)
10 | (B) 35 | (E)
11 | (B) 36 | (D)
12 | (D) 37 | (A)
13 | (D) 38 | (B)
14 | (A) 39 | ()
15 | (D) 40 | (B)
16 | (C) a1 | (B)
17 | (A) a2 | (A)
18 | (E) a3 | (g)
19 | (D) a4 | (B)
20 | (Q) 45 | (D)
21 | (B) a6 | (Q)
22 | (B) 47 | (D)
23 | (D) a8 | (E)
24 | (B) 49 | (B)
25 | (B) 50 | (E)




